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—4x+ 3 x <3 )
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Cx ) -3 <x <8 KIW[3 =
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V) = -<Le>3 25
= — & —25
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Given

f(x)=Vx—1andg(x) =x*+9, gD =x*+9 3 f(x)=Vx—-1

find [f o g](x).

DO = | ) — |

O /x2+8 -
= d 249
O x+8 _
= J xR
O x-8
O Jx2-8
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A (fogf(x)=Vx—1 ,g(x)= x*+3
FeaOVz [y -
V2x2 + 2
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= \( 2 L Vat —2
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Which of the following is an even TAaag) Alla aad L Laa g

function?

@, f(x}zg—z? 5 Y 6
7’ 0 (nd — WA LU + 321

O f(I)=Q A)? MJ)C/-:_\_/
O f(:r)=Q J,)}’

O flx) =+ z?f%
/
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Identify the parent function f (x) of
h(x) =[x]-5.

O flx)=x X

O f(xX)=x+5 \(

O f(x)=x-=5 X
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Determine all the zeros of Al aias aia
the function J(x) = x* — 4x3 — 3222
f(x) = x* — 4x3 — 32x%.

O x=-8x=—-4x=0
O x=-8x=0x=4

O x=—4.x=0,x=8
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Find the value of the expression:

sin (st‘1 g)
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6 Condense the expression /'\ el Jaly

4 4
\6 % log,15 + 6 log,x — 3 log,x log,15 + 6 log,x — 3 log,x

% where x > 0. 6 .x}ﬂdgah
3 ( 4’3 IS“'/{OB()’L - {dj rxc

15x° 2 — 2

'Olugg 2
3 (2. ')( @ 40,3 IF;.%C |
2 & G

% o ]Dg215+x f%/: 3 ‘5%
B /{ 9 (5% e 2 7‘%_3
5 O 103215+x g Z —_—— ﬂﬁ —

Vx

L 5 |
3 % 072,, JZ ; mke
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QO x=-5
Q. x=2
Q x=5
O x=-2
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Identify the angle that is coterminal

with the angle —% :

e sl alia A Al Al ads

— 7 sl
ey
-Tr T = 2 n
5 T2l =5
O g+2ﬂﬂf _ /JL./ ‘
= — = >
O —+nnm H - 2 \ i

° s 211 (n)
Il
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Find the value of the expression:

ta(sn)
"2
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Find the inverse function of

4
o rm-

f(x}=4;x,x¢ﬂ.
O )= L x4
x—4'
Ohif ) = 1 x+ —4
x+4
4
-1 pll
O r (:r)—x_l.x¢1
—
X+ -1

1’
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A team of climbers must determine SN s Catludall (e (38 daas ) e
the width of a ravine in order to set .03 9umd A D) SleaY) ugaald
up equipment to cross it. O (s2ls)) Blilaay 25 M OsRladal) L 13)
If the climbers walk 25 m along the adads ) g k55 ¢ gl Adaadall Adadll)
ravine from the chosen crossing dugh (salsll Bamal) Agall e gl
point, and sight the crossing point T Lae Os as8 35° il
on the far side of the ravine to be at Bode Ga s Bl s y,

—
a 35° angle, how wide is the ravine?

Round to the nearest tenth.

. “*‘*-—*ff’ls:\;\.: s ) _
X ~
T G 5
o\ﬁt&‘ 25 - J) Ez}\
— C
O X=20.5m
O X=357m /)L"’, 25 ‘i’q Y\SS
O X=14.3m — ('1‘5- m
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Which of the following describes the

possible end behavior of a

C—

R&
Q\

polynomial of odd degree?

Py

()( lim f(x) =3, imf(x) =3

X——00

g, 7> =

oo, tim £ =~ W/

: lim f(x) = oo,
X —» 00

3 L e (XD

lim f(x) = oo,
x—»—ﬁ -
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Find the value of the expression:

cos(tan—1'1 — sin—11)
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Find the value of the expression:
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Determine the equation of the ey ghal) a f(x) = 5% A dlalaas 23
function f(x) = 5* after being il ) cliag 45 bl gad sy 3
translated 3 units left and 4 units
down. ’7(*3

O f(x) =5 :’4/

O f(x)=5*%*—3

O f(x)=5"%-4

®) f(.’.l?) = gx+4 _ 3
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Use the parent graph of f(x) = log x
to find the equation of the function

j(x)-

AMR MATH

2 eV Sl ST aassl
Adlal) Adslas J Jasll f(x) = log x
J(x)

[
SEEERE G

O i(x) = log (x + 1)

O itx) = —log (x)

O I(x) =

log (x)
O j(x) = log(—x)j
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Evaluate the logarithm:
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A company is installing a new ski lift
on a 225 m-high mountain that will
ascend at a 48° angle of elevation.

Determine the length of the cable the

lift requires to extend from the base

to the peak of the mountain.

G= 303 m
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L 48° W gl

Oa diag] Saall 4ulais () Jadl Jgb 33
el dd ) saclal )\

O x=203 m
O x=336 m —
O x=167 m Sl

0544560575




12 duilgill daal yall AMR MATH
adiia11 ¢ ale
Find the area of the shaded sector Bl Bylall g Ual Aaleca 334
of the circle.
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Write a sinusoidal function with the Avially By gl aladiuly dgpaa Adla Gas)
given period and amplitude and that Blae ) dbdill a3y olial (ydass o)
passes through the given point. 4w 5l T
period: 4m 2 rdandl ———
amplitude: 2 (7, 2) rdhagil) —— T
paint: (H- 2) —
<
>€) y=2sin(x +4m) ~— N o\ __{
q, —_— 2

x
k y=-2 slnz

X
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